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(SEM- VI ) THEORY D(AMNATION 2OI t)'1I

DIGIIAI STGNAL PROCESSING

Nor.: (l) Anmpl rllqu.$ids.

I Anenpr any four Da*s otlie lolouing :

(2) All qu€$im cary eqlal marks.

(3) Bc prais itr you mswd No $cond sswer b.ot

(a) ciw any inE. pDF.rties ofBndwonh Lw Pas Filed

(t) cive L\€ expressioi lor tne iealion ofD.le dd aos of

Chcbywt e trfilrer

G) H6w o@ can design Digiral Filtr fon Andog Filtss ?

(d) whar aE adrania!.s and disadvanras.s ofBilinear

(e) Dktinelisn berween Rectrrsive realizalion and No.

R*di* rcaliz.tion. Also wfte In. i,tr ofdif@nt tw€s
. of etutuEforr.alizarionof IlRsydam.

(D Pdclhal ph]ricalyEaliabl. mFila m.ot have lh6

(Folotrirg Paper ID and Roll No. ro bc fr]kn in ylu Ansvd Aook)



2. A(dpt my iso pans ofrhe following:

(a) Civa th. .p*ifilatior op = t db, cs = 30 db, Op =200

ndsec, Os = 600 nd/sec Dcremitu rhc orda of the

B$tNonh Filts wbac Op rud Os re the pas baod

rnd s1op bmd lEquency md ap dd G G pa$ brld ad
slopbard anau.rion.

O) Onhinlhe tlirdfom I elrattm for th. sldm dcsribd
by lhe difcmce eqution :

Y(,) = 0.5Y(n-1) - 0.2sY(F2) + x(r) + 0.4x (n D

G) (D sos 6my ilnbq of ad4itim, mltipli@tion ad
llmory locarions ft EquiEd to sliE . system

E(z) h.vins M zms ed N polcs in (i) Did Fom I
ralizlion (n) DiEdlrom Il @lizrtion.

(D D€hinedEodqandpole ofld pa$Bult Monh

6lkt vidcX dBanmutimatsoogzdd,h-tion
of40 Db at I000 Hz

l. Atl.4r ey No p.ns of rhe lollowiIg: (t0,2=20)

la) Whr' is l]-e lBon lllar rR I ihen e.lways sirbl. r

Al$mr.-bcpropsr.esof rnr re, E\plu hePmUe' -
md Cascad. fom re.liztio! of[R Fit6.

(h) WId is L\epdrcipleoftlesisninsFlR 6lt*sins\Xindow ?

(c) Wl:ai is Cibbs phd@otr ? C!mp@ H@insMrdov



!

t. Arldli:ny tPopans:

Atlmpt any lou pds ofrh3 follo*ing: (4x5-20)

(n) whal n zdo Pad.tins ? wlDr ft i{s uscs ?

(b) Disti4lisn betwen tne lollovins:

(i) Foris Tmnslom dd lourier scd*.

(ii) Lilaconrclulionddcircularconvolution.

(c) Obtainthc Clrcul, Conrclntion ofrhe follovilE:

x(n)= {r,2. L},H(n): {r, r.2l
(d) Deteminc the Iou loinr DIT ol llr ScqEnce

x(i)= lr,l,0,ll.
(e) Find ihc cncular @nvorutio! ofrhe t*o sequfice:

x(n) = {1,2,2, l}.nd Y(n) = 11,2.3. r} Nin8 Marnx

(0 Lisr lhe Fou popeties of DlT.

(a) Wriie ihe advmt.ga of FFT owr DFr. Cal.trlat $e

nubs ofmuliipliotiols ned.d inthe @lculatioD olDFt

(t ) Disiinglish betqeen Drf ud DII aleofihUr. Dnw th.

nov gr{h oia rwo poid ndi{-2 DIF d DIT FFL

(c) conpub &eDFr otlnc s.queme x(n) = 6s (nt)D trhGe

N = 4 sinC DII rFT alcon6m.


